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You need a scientific caleulator for this worksheet, A
Round all answers to 1 d.p. where necessary., ﬂm TOA
. Find the size of angle x in cach diagram.
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Trigonometry (2) — More Practice

You need a scientific calculator for this worksheet. i

Find the angles and sides marked with letters.
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Ingonometry (3) - Isosceles Triangles & Frameworks

(®) (©) i

l4cm

2. The diagram opposite represents a
buoy used for tying-up small boats.

Caleulate the vertical height (/) of its
triangular frame.

3. To comply with building regulations a roof must have an angle
of between 21" and 28° to the horizontal (see diagram). j l :

Which, if any, of the two roofs below comply with ) e
the building regulations? e
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4, The diagram opposite shows part of the D !--—";q
framework for a small hinged bracket. A *
\\

M

{a)  Calculate the length of DB.
(b}  Hence calculate the length of BC.

3 The diagram opposite represents a playground chute.
AC represents the slide and AB the stairs.

A local council ruling states " for a slide to be safe the
maximum permissible angle between the slide and
the grownd is 35° ",

Does this diagram represent a "safe” slide?



You need a scieniific calculator for this worksheet,

Mast of the problems below will require you to draw a neat sketch before
attempting to answer the question.
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Trigonometry (4) - Problems

\ Renscmber

A ladder of length 4m rests against a vertical wall so that the base of the ladder
15 1-5 m from the wall.

Calculate the angle between the ladder and the ground.

A ladder of length 5m leans against a vertical wall so that the base of the ladder
15 2m from the wall.

Calculate the angle between the ladder and the wall,

A vertical telegraph pole has a wire support of length 9m stretching from the top of
the pole to the ground so that the angle between the wire support and the ground is 65°,

How far is the end of the wire support from the base of the pole?

A vertical aerial mast has a wire support of length 12m stretching from the top of
the mast to the ground so that the angle between the wire support and the ground is 78",

Calculate the height of the mast.

A ladder of length 4 -8 m rests against a vertical wall so that it reaches up the wall to a
height of 4-3m.

Calculate the angle between the ladder and the ground.

A tall thin tree has a height of 15m. A rope support stretches from the top of the tree to
a point on the ground out from the base of the tree,

If the angle between the rope and the ground is 62°, calculate the length of the rope support.

From a distance of 20m from the base of a tower the angle of elevation to the top of
the tower is 38", How high is the tower?

P is a point 30m from the base of a building. The building has a height of 18m.
Calculate the angle of elevation to the top of the building from P.

A girl is flying a kite from a string of length 46m.
The string is taut, and is being held 1m above the ground.

Calculate the height of the kite above the ground if the angle of elevation
is 36" between the string and the horizontal,

The frame of a bicycle is shown in
the diagram oppaosite.

Find the length of the cross bar, AB.

Consider the diagram opposite.

Hoom

Calculate the length marked x. ur
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Trigonom I
(a) x=35.T (b) x=46.2° (c) x=36-00
(d) x=58-4 (2) x=75-0° (1) x=34.9
(a) x=10.9 {b) x=9.0 (c) x=30.8

(d) x=10-1 (e) x=§.2 {f) x=0-7

(a) p=7-8 (b) p=146 () p=4-2

@) p=86-0 () p=248 () p=36-4

Trigonometry (2)— More Practice

O

a="7.5 2. b= 48.6 3. c= 34 4. d= 70 5.

f=352.9 7. g=34-4 8. k=733 9 i=23.4 10.

k= 28.7 12 I=40.1° 3. m= 2.1 14 n=35.2 15.

p=64-6" 17. g= 8.2 r=155-17 18, s= 67 t= 4.7

o

Trigonometry (3) — Isosceles Triangles & Frameworks

{a) 5-8cm ib) 25-4¢m {c) 11-8mm
34-Bem
(a) 31" - No (1)) 21-87 - Yes

(a) DB=15-0mm (b} BC=18-3 mm

AB=2.Tm . ZACE=32-T (32.-9°) - Itisasafe chute.

Trigonometry (4) — Problems
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